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String composed of one string from L1 followed by one string from L2

[CIT342] The operations on languages: L1L2 implies what?
String composed of one string from L1 followed by one string from L2

[CIT342] We can distinguish among different kinds of grammars based on the form of
the
productions

[CIT342] can be used to prove that certain infinite languages are not
regular.
Pigeonhole

[CIT342] A context-free language is a language that can be defined by a

context-free method

[CIT342] A setis under an operation if, whenever the operation is
applied to members of the set, the result is also a member of the set.

closed

[CIT342] Whenever an input symbol is read, go to a state that will any
symbol other than the one read.

accept

[CIT342] In Ada consists of a letter followed by any number of letters,
digits, and underlines.

identifier

[CIT342] If we always expanded the first, we would have a rightmost
derivation

rightmost variable

[CIT342] A regular language is given in a standard representation if it is specified by
one of the following, except
A regular closure
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